SPONSORSHIP NEEDS for 2017 - 2018

Little Steps Foundation Is A Registered Public Charity That Provides Free Preschool Nursery And Kindergarten Education To Economically Underprivileged Children In Indira Nagar & Kottivakkam Chennai.

We have currently 30 children at the pre school and LKG level. We request your kind support to meet the needs of the school and the children through various sponsorship offers

Type Of Donation	Donation amount required	
Staff Salary	45000 x 12	= 5,40,000
Rent	25000 x 12	= 3,00,000
Electricity	3000 x 6	= 18,000
Maintenance Of Building, Garden Etc	4000 x 12	= 48,000
Water Purifier Maintenance For A Year		= 4000
Text Books, Stationary, Uniform For A Year		= 15,000
Telephone / Internet	1250 x 12	= 15,000
Outing For Children Twice A Year		= 10,000
Sports Day, Cultural Day And Festival Celebration		= 15,000
Furniture, Painting & Toys		= 1,50,000
TOTAL		= 12,00,000

Contribution To Be Made By Cheque In The Name Of A/C

"Little Steps Foundation"

#3/2, 13th Cross (Canal Bank Road), Indira Nagar, Chennai - 600 020 Ph : 044 2441 9536

Little Steps

A Playschool with a difference



A Playgroup I Nursery I LKG I UKG



JAYASHREE .S 98409 46920

PROVIDE IN THE SCHOOL

To Enable Economically Underprivileged Parents To Ensure That Their Little Ones Also Get To Attend A Playschool / Nursery Before Joining Regular School In Our Talks With The People Around Indira Nagar, Adyar We Realized That Many Of Their Children Are Left To Their Own Devise From Age 2 To 5 Reason For This Is Mainly Due To The Fact That The Parents Were Unable To Bear The Financial Burden Of Enrolling Them In A Nursery. Hence They Would Wait Until The Children Were 5 And Put Them In A Regular School. Tn This Process They Were Also Finding It Difficult To Secure A Seat For The Children In A School Of Their Choice And So Had To Settle For Any School That Would Take Them. The Children Were Not Prepared Enough To Undergo The Tests That Are Necessary To Gain Admission To Well Recognized Schools. This Then Became Our Primary Concern And We Have Decided To Offer The Children The Experience Of A Nursery / Playschool. To This End We Have Devised A Syllabus And Have Engaged Teachers To Reach Out To The Children Of The Economically Underprivileged Parents.

OUR MISSION

To Provide Free Education To The Children In Playgroup, Preschool, Kindergarten Level.

To Ensure That They Learn That Organized Play Can Teach And Nurture The Children

To Inculcate Habits Of Cleanliness, Safety And Dicipline At A Very Young Age So That The Learning Process In School Is Smooth And More Productive.

To Nurture The Young Minds Through Gentle Play Way Methods So That They Develop An Interest In Learning

To Introduce Dance, Music And Yoga To Them At An Age Where It Does Not Seem A Burden To Them.

To Inculcate Moral Values Through Plays And Story Telling Sessions Held In The School.

Expose The Children To Various Learning Methods And Teaching Aids That The Parents May Not Be Able To Afford On Their Own.



Well Trained Teachers On A 1:5 Ratio To Ensure That Children Get Much Needed Attention At This Age

Clean Child Friendly Furniture

Various Teaching Aids

Outdoor And Indoor Toys

Purified Water

Spacious And Clean Toilets



Free Uniform, Books And Stationary Is Provided For All Students. A Regular And Well Planned Curriculum That Will Provide The Children The Necessary Knowledge.

Regular Outing To Places Of Interest So That They Are Also Well Aware Of Their Surroundings And Gain Meaningful Knowledge

Celebrate All Major Festivals In A Traditional Manner So As To Inculcate A Sense Of Pride In Our Culture.

All The Services Provided In The School Are Offered Free To The Children.



SPONSORSHIP NEEDS for 2017 - 2018

Little Steps Foundation Is A Registered Public Charity That Provides Free Preschool Nursery And Kindergarten Education To Economically Underprivileged Children In Indira Nagar & Kottivakkam Chennai.

We have currently 30 children at the pre school and LKG level. We request your kind support to meet the needs of the school and the children through various sponsorship offers

Type Of Donation	Donation amount required	
Staff Salary	45000 x 12	= 5,40,000
Rent	25000 x 12	= 3,00,000
Electricity	3000 x 6	= 18,000
Maintenance Of Building, Garden Etc	4000 x 12	= 48,000
Water Purifier Maintenance For A Year		= 4000
Text Books, Stationary, Uniform For A Year		= 15,000
Telephone / Internet	1250 x 12	= 15,000
Outing For Children Twice A Year		= 10,000
Sports Day, Cultural Day And Festival Celebration		= 15,000
Furniture, Painting & Toys		= 1,50,000
	TOTAL	= 12,00,000

Contribution To Be Made By Cheque In The Name Of A/C

"Little Steps Foundation"

#3/2, 13th Cross (Canal Bank Road), Indira Nagar, Chennai - 600 020 Ph : 044 2441 9536



A Playgroup I Nursery I LKG I UKG

OUR VISSION

To Enable Economically Underprivileged Parents To Ensure That Their Little Ones Also Get To Attend A Playschool / Nursery Before Joining Regular School In Our Talks With The People Around Indira Nagar, Adyar We Realized That Many Of Their Children Are Left To Their Own Devise From Age 2 To 5 Reason For This Is Mainly Due To The Fact That The Parents Were Unable To Bear The Financial Burden Of Enrolling Them In A Nursery. Hence They Would Wait Until The Children Were 5 And Put Them In A Regular School. Tn This Process They Were Also Finding It Difficult To Secure A Seat For The Children In A School Of Their Choice And So Had To Settle For Any School That Would Take Them. The Children Were Not Prepared Enough To Undergo The Tests That Are Necessary To Gain Admission To Well Recognized Schools. This Then Became Our Primary Concern And We Have Decided To Offer The Children The Experience Of A Nursery / Playschool. To This End We Have Devised A Syllabus And Have Engaged Teachers To Reach Out To The Children Of The Economically Underprivileged Parents.



PADHIKA MALINI 98402 04344 0 0 0 JAYASHREE .S 98409 46920

PROVIDE IN THE SCHOOL

OUR MISSION

To Provide Free Education To The Children In Playgroup, Preschool, Kindergarten Level.

To Ensure That They Learn That Organized Play Can Teach And Nurture The Children

To Inculcate Habits Of Cleanliness, Safety And Dicipline At A Very Young Age So That The Learning Process In School Is Smooth And More Productive.

To Nurture The Young Minds Through Gentle Play Way Methods So That They Develop An Interest In Learning

To Introduce Dance, Music And Yoga To Them At An Age Where It Does Not Seem A Burden To Them.

To Inculcate Moral Values Through Plays And Story Telling Sessions Held In The School.

Expose The Children To Various Learning Methods And Teaching Aids That The Parents May Not Be Able To Afford On Their Own.



Clean Airy And Well Ventilated Class Rooms And A Large Playground

Well Trained Teachers On A 1:5 Ratio To Ensure That Children Get Much Needed Attention At This Age

Clean Child Friendly Furniture

Various Teaching Aids

Outdoor And Indoor Toys

Purified Water

Spacious And Clean Toilets

are



Free Uniform, Books And Stationary Is Provided For All Students. A Regular And Well Planned Curriculum That Will Provide The Children The Necessary Knowledge.

Regular Outing To Places Of Interest So That They Are Also Well Aware Of Their Surroundings And Gain Meaningful Knowledge

Celebrate All Major Festivals In A Traditional Manner So As To Inculcate A Sense Of Pride In Our Culture.

All The Services Provided In The School Are Offered Free To The Children.